BAI MAU IELTS WRITING TASK 1

1. bé bai:
The line graph shows the percentage of New Zealand population from 1950 to
2050.

Summarize the information by selecting and reporting the main features and make
comparisons where relevant.
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Bai mau tham khao:

The given line graph gives information about the proportion of inhabitants of
New Zealand of different age groups, over the period of 100 years, from 1950
to 2050.

From an overview, it is clearly seen that while the proportions of people in the
0-14 and 15-34 age groups are expected to decrease, the opposite is true for
the rest categories. Also the year 1990 witnessed the highest.




In a more detailed analysis, between 1950 and 1990, the percentage of people
aged 15-24 ascended substantially, reaching a peak of 45%. followed by a
gradual descent of approximately 5%. After that, that group experienced a
noticeable decline before being expected to fall gently by around 5% from
2030 to 2050. In terms of children under 14, the figure for this group
registered a downward trend from 1950 to 2010 and is predicted to drop
slightly from 2030 to 2050.

A steady increase in the proportion of inhabitants aged 35 to 64 was witnessed
in a period of 80 years (1950-2010) and is anticipated to ascend significantly by
nearly 10% (2030-2050). Moving on to specific data of the elderly aged 65 and
above, after a period of stability in the first 4 decades, it fluctuated from 1990
to 2020. By 2050, it is anticipated that one in every five New Zealanders will fall
under this age group.

2. bé bai
Task 1 Table

You should spend about 20 minutes on this task.

The table shows the Proportions of Pupils Attending Four Secondary School
Types Between Between 2000 and 2009.

Summarise the information by selecting and reporting the main features and make

comparisons where relevant.

Write at least 150 words.

Secondary School Attendance

2000 | 2005 | 2009

‘ Specialist Schools H 12% H 11% H 10%
‘ Grammar Schools H 249% H 19% H 12% ‘

Voluntary-controlled
Schools

‘ Community Schools H 12% H 32% H 58%

52% 38% | 20%




The table illustrates the percentage of school children attending four different
types of secondary school from 2000 to 2009. It is evident that whereas the
community schools experienced a marked increase in the proportion of those
attending their institutions over the period, the others saw a corresponding
decline.

To begin, the percentage of pupils in voluntary-controlled schools fell from just
over half to only 20% or one fifth from 2000 to 2009. Similarly, the relative
number of children in grammar schools - just under one quarter - dropped by
half in the same period. As for the specialist schools, the relatively small
percentage of pupils attending this type of school (12%) also fell, although not
significantly.

However, while the other three types of school declined in importance, the
opposite was true in the case of community schools. In fact, whereas only a
small minority of 12% were educated in these schools in 2000, this figure
increased to well over half of all pupils during the following nine years.

(170 Words)
3. bé bai

You should spend about 20 minutes on this task.

Below is a map of the city of Brandfield. City planners have decided to build a

new shopping mall for the area, and two sites, S1 and S2 have been proposed.

Summarise the information by selecting and reporting the main features and make
comparisons where relevant.

Write at least 150 words.

Map of Brandfield with two proposed sites for a shopping mall




The map illustrates plans for two possible sites for a shopping mall in the city of
Brandfield. It can be seen that the two sites under consideration are in the north
and the south east of the town.

The first possible site for the shopping mall, S1, is just north of the city center,
above the railway line, which runs from the south east of the city to the north
west. If it is built here, it will be next to a large housing estate, thus providing
easy access for those living on the estate and in the city center. It will also be
next to the river that runs through the town.

The site in the south east, S2, is again just by the railway line and fairly close to
the city center, but it is near to an industrial estate rather than housing.

There is a main road that runs through the city and is close to both sites, thus
providing good road access to either location. A large golf course and park in the

west of the town prevents this area from being available as a site.

(190 words)



